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QUESTION 1

A disk drive failed in a RAID 5 array. After replacing the disk drive, users are still reporting that access to the server is
very slow. Which of the following BEST explains the problem? 

A. The array is rebuilding. 

B. The array must be reconfigured. 

C. The array is corrupt. 

D. The disk drive is not compatible. 

Correct Answer: A 

 

QUESTION 2

Which of the following allows multiple server systems to be connected by a backplane? 

A. Blade form factor 

B. Rack form factor 

C. ATX form factor 

D. Tower form factor 

Correct Answer: A 

 

QUESTION 3

An administrator receives a call from an end user reporting that the application they are using keeps giving them an
error on port 23. Which of the following is being used? 

A. SSH 

B. Remote Desktop Connection 

C. Telnet 

D. VPN 

Correct Answer: C 

 

QUESTION 4

A company backs up their data using daily, weekly, and monthly tape backups. The monthly backups are also known as
which of the following? 
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A. Great-grandfather 

B. Grandfather 

C. Father 

D. Son 

Correct Answer: B 

 

QUESTION 5

Which of the following describes how many VRM\\'s would be required in a system with quad Xeon CPU\\'s? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: D 
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